CVP and BEP
1. Fixed costs are $1,500,000 and the contribution margin per unit is $150. What is the break-even point?

a. 10,000 units’
b.  $10,000,000      c. 3,750 units         d.
$3,750,000 

2. Borehole’s Company had actual sales of $800,000 when break-even sales were $600,000. What is the margin of safety ratio?

a. 75%                      b. 33%                     c. 67%
        d.
25%


3. How much sales are required to earn a target income of $80,000 if total fixed costs are $100,000 and the contribution margin ratio is 40%?

a. $300,000 
b.  $450,000            c. $200,000
        d. $330,000 



4. Clark Company had a contribution margin of $500,000 and a contribution margin ratio of 40%, total variable costs must have been

a. $200,000.00 
b. $300,000.00 
      c. $1,250,000.00 
d. $750,000.00 
5. Garland’s Company’s cost of goods sold is $350,000 variable and $200,000 fixed. The company’s selling and administrative expenses are $250,000 variable and $300,000 fixed. If the company’s sales are $1,400,000, what is its contribution margin?

a. $300,000 
b.  $850,000             c. $800,000
         d. $900,000 


6. Moschino Company is planning to sell 400,000 hammers for $1.50 per unit. The contribution margin ratio is 20%. If Dolce will break even at this level of sales, what are the fixed costs?

a. $280,000             b. $120,000               c. $400,000        d. $480,000
  

7. Johnson Company produces flash drives for computers, which it sells for $20 each. Each flash drive costs $12 of variable costs to make. During April, 1,000 drives were sold. Fixed costs for March were $2 per unit for a total of $1,000 for the month. How much is the contribution margin ratio?

a. 30%     
            
b. 60%               c. 40%
        d. 70%


8. In 2008, Norris sold 3,000 units at $500 each. Variable expenses were $350 per unit, and fixed expenses were $200,000. The same selling price, variable expenses, and fixed expenses are expected for 2009. What is Norris’s break-even point in units for 2009?

a. 3,000
            
b. 1,333
    c. 4,285
        d.
 6,667


9. Gautier’s CVP income statement included sales of 2,000 units, a selling price of $100, variable expenses of $60 per unit, and fixed expenses of $44,000. Contribution margin is:

a. $200,000.00     b. $120,000.00          c. $36,000.00     d.
$80,000.00

10. Reese Company requires sales of $2,000,000 to cover its fixed costs of $700,000 and to earn net income of $500,000. What percent are variable costs of sales?

a. 25%
            b. 35%
                    c. 40% 
        d.
60%


11. Denice Company sells compact disk players for $60 each. Variable costs are $40 per unit, and fixed costs total $30,000. How many compact disk players must Denice sell to earn net income of $70,000?

a. 1,500
              b. 3,500
        c. 2,500
         d. 5,000


12. A Disney’s company division sold 200,000 calculators during 2008:

Sales                               $2,000,000

Variable costs: 


Materials                              380,000


Order processing                 150,000


Billing labor                          110,000


Selling expenses                    60,000


Total variable costs              700,000

Fixed costs                        1,000,000

How much is the contribution margin per unit?

a. $1.00                    b. $6.50                  c. $8.50                 d.
 $3.50


13. Masset Company, sales is $1,000,000, fixed expenses are $300,000, and the contribution margin ratio is 36%. What are the total variable expenses?

a. $640,000              b. 192,000              c. $360,000          d.
$1,000,000 

14. Vazquez CVP income statement included sales of 3,000 units, a selling price of $100, variable expenses of $60 per unit, and net income of $50,000. Fixed expenses are

a. $300,000.00  
 b.  $120,000.00    c.  $180,000.00     d.  $70,000.00 



15. Fixed costs are $300,000 and the variable costs are 75% of the unit selling price. What is the break-even point in dollars?

a. $1,200,000           b. $900,000
     c. $700,000           d.
$400,000


16. Anthony’s Company recorded operating data for its shoe division for the year. The company’s desired return is 5%.

Sales                                                     $500,000


Contribution margin                                100,000


Total direct fixed costs                              60,000


Average total operating assets                200,000


Which one of the following reflects the controllable margin for the year?

a. 20%                      b.  $40,000           
 c. $30,000             d.
50%  


17. Smith, Inc. wants to sell a sufficient quantity of products to earn a profit of $40,000. If the unit sales price is $10, unit variable cost is $8, and total fixed costs are $80,000, how many units must be sold to earn income of $40,000?

a. 600,000 units
 b. 40,000 units
     c. 15,000 units     d. 60,000 units


18. Howard Company sells 100,000 wrenches for $12.00 per unit. Fixed costs are $350,000 and net income is $250,000. What should be reported as variable expenses in the CVP income statement?

a. $540,000 

 b. $850,000
      c. $950,000 
       d.
$600,000
 

19. Form’s variable costs are 30% of sales. The company is contemplating an advertising campaign that will cost $22,000. If sales are expected to increase $40,000, by how much will the company's net income increase?

a. $18,000                 b. $28,000              c. $6,000            
   d. $12,000



Relevant Cost/Ratios Analysis
1. The current ratio for a company with current assets of $70,000, quick assets of $30,000, total assets of $150,000 current liabilities of $50,000 and net sales of $80,000 would be:

A. 0.20

B. 1.40

C. 3.00

D. 1.00

2. Rick’s has a cash balance of $80,000; short-term investments of $20,000; net receivables of $60,000; and inventory of $450,000.  Current liabilities total $200,000.  Ricks’ acid test (quick ratio) is within:

A. 3.05 to 1

B. 2.25 to 1
C. 0.80 to 1
D. 0.54 to 1

3. Isaiah Company has net income of $720,000, beginning total assets of $2,100,000, and ending total assets of $2,300,000.  Isaiah’s return on total assets is:

A. 32.7%

B. 11.2%
C. 3.1%

D. 31.3%

4. Tammy Company has a beginning accounts receivable balance of $65,000 and an ending accounts receivable balance of $60,000.  Net credit sales are $250,000. Tammy’s 
accounts receivable turnover rate is:

A. 3.846

B. 4.167
C. 4.000
D. 2.000

5. With a beginning accounts receivable balance of $80,000; an ending accounts receivable balance of $120,000; and net credit sales of $900,000, the accounts receivable turnover is:

A. 9.00

B. 4.50

C. 7.50

D. 11.25

6. Topiary’s Unlimited has a cost of goods sold of $1,600,000.  The beginning merchandise inventory was $195,000 and the ending merchandise inventory is $205,000.  Topiary’s merchandise inventory turnover ratio is:

A. 8.21 times

B. 7.80 times.
C. 8.00 times
D. 9.00 times.

7. Amanda’s has a cost of goods sold of $1,900,000.  The beginning and ending merchandise inventories   are $133,000 and $125,000, respectively.  Amanda’s merchandise inventory turnover ratio is:

A. 65.5 times

B. 33.8 times
C. 14.7 times
D. 29.4 times

8.  Walker Clothing Store had a balance in the Accounts Receivable account of $390,000 at the beginning of the year and a balance of $410,000 at the end of the year. Net credit sales during the year amounted to $2,000,000. The average collection period of the receivables in terms of days was

A. 30 days

B. 365 days
C. 146 days
D. 73 days

9. Parr Hardware Store had net credit sales of $6,500,000 and cost of goods sold of $5,000,000 for the year. The Accounts Receivable balances at the beginning and end of the year were $600,000 and $700,000, respectively. The receivables turnover was

A. 7.7 times

B. 10.8 times
C. 9.3 times
D.10 times

10. Waters Department Store had net credit sales of $16,000,000 and cost of goods sold of $12,000,000 for the year. The average inventory for the year amounted to $2,000,000. Inventory turnover for the year is

    A. 8 times    

B. 14 times
 C. 6 times   
 D. 4 times

11. Waters Department Store had net credit sales of $16,000,000 and cost of goods sold of $12,000,000 for the year. The average inventory for the year amounted to $2,000,000. The average number of days in inventory during the year was

A. 91 days

B. 61 days
C. 46 days
D. 26 days

12. The current assets of Kile Company are $150,000. The current liabilities are $100,000. The current ratio expressed as a proportion is

A. 150%

B. 1.5: 1
C. .67: 1
D. $150,000 ÷ $100,000

13. A company has a receivables turnover of 10 times. The average net receivables during the period are $400,000. What is the amount of net credit sales for the period?

A. $40,000

B. $4,000,000
C. $480,000
D. Cannot be determined from the information given

14. Gold Clothing Store had a balance in the Accounts Receivable account of $820,000 at the beginning of the year and a balance of $880,000 at the end of the year. Net credit sales during the year amounted to $7,650,000. The receivables turnover ratio was

A. 9.0 times

B. 4.5 times
C. 8.7 times
D. 9.3 times

15. Gold Clothing Store had a balance in the Accounts Receivable account of $810,000 at the beginning of the year and a balance of $850,000 at the end of the year. Net credit sales during the year amounted to $6,640,000. The average collection period of the receivables in terms of days was

A. 91.3 days

B. 45.6 days
C. 30 days
D. 46.7 days

16. The following information pertains to Soho Company. Assume that all balance sheet amounts represent both average and ending balance figures. Assume that all sales were on credit.

Assets

Cash and short-term investments
$  45,000

Accounts receivable (net)
              25,000

Inventory
                                   20,000

Property, plant and equipment
  210,000


Total Assets
                     $300,000

Liabilities and Stockholders’ Equity

Current liabilities
                          $  50,000

Long-term liabilities
                              90,000

Stockholders’ equity—common
       160,000


Total Liabilities and Stockholders’ Equity  
$300,000

                           Income Statement

Sales

                                    $ 120,000

Cost of goods sold
                               66,000

Gross margin
                                         54,000

Operating expenses
                               30,000


Net income
                           $  24,000

Number of shares of common stock
6,000

Market price of common stock
   $20

Dividends per share
                         .50

What is the current ratio for Soho?

A. 1.80

B. 1.30

C. 1.40

D. .64

17. The following information pertains to Soho Company. Assume that all balance sheet amounts represent both average and ending balance figures. Assume that all sales were on credit.

Assets

Cash and short-term investments
     $  45,000

Accounts receivable (net)
                   25,000

Inventory
                                        20,000

Property, plant and equipment
       210,000


Total Assets
                           $300,000

Liabilities and Stockholders’ Equity

Current liabilities
                              $ 50,000

Long-term liabilities
                                  90,000

Stockholders’ equity—common
           160,000


Total Liabilities and Stockholders’ Equity    
$300,000

          Income Statement

Sales

           $ 120,000

Cost of goods sold
     66,000

Gross margin
                54,000

Operating expenses
     30,000


Net income
$   24,000

Number of shares of common stock
6,000

Market price of common stock
  $20

Dividends per share
                       .50

What is the receivables turnover for Soho?

A. 2.1 times

B. 2 times
C. 4.8 times
D. 9.6 times

18. The following financial statement information is available for Houser Corporation:


                      2011   
         2010


Inventory
        $ 44,000
      $ 43,000

Current assets
           81,000
       106,000

Total assets
         432,000
       358,000

Current liabilities       30,000
         36,000

Total liabilities         102,000
         88,000

The current ratio for 2011 is

A. .37:1

B.  2.7:1
C. .79:1

D. 4.24:1

19. Alvarez Company is considering the following alternatives:


                Alternative A
  Alternative B

Revenues
      $50,000
                $60,000

Variable costs
        30,000
                 30,000

Fixed costs
        10,000
                 16,000

What is the incremental profit?

A. $10,000

B. $0

C. $6,000
D. $4,000

20.  Seville Company manufactures a product with a unit variable cost of $42 and a unit sales price of $75. Fixed manufacturing costs were $80,000 when 10,000 units were produced and sold, equating to $8 per unit. The company has a one-time opportunity to sell an additional 2,000 units at $55 each in an international market which would not affect its present sales. The company has sufficient capacity to produce the additional units. How much is the relevant income effect of accepting the special order?

A. $84,000

B. $10,000
C. $40,000
D. $26,000

21. It costs Lannon Fields $14 of variable costs and $6 of allocated fixed costs to produce an industrial trash can that sells for $30. A buyer in Mexico offers to purchase 3,000 units at $18 each. Lannon Fields has excess capacity and can handle the additional production. What effect will acceptance of the offer have on net income?

A. Decrease $6,000
B. Increase $6,000
C. Increase $54,000
D. Increase $12,000

22. It costs Fortune Company $10 of variable and $4 of fixed costs to produce one bathroom scale, which normally sells for $28. A foreign wholesaler offers to purchase 1,000 scales at $12 each. Fortune would incur special shipping costs of $1 per scale if the order were accepted. Fortune has sufficient unused capacity to produce the 1,000 scales. If the special order is accepted, what will be the effect on net income?

A. $1,000 increase
B. $1,000 decrease
C. $2,000 decrease
D. $12,000 increase

23. A company contemplating the acceptance of a special order has the following unit cost behavior, based on 10,000 units:

 Direct materials          $  4

 Direct labor
               10

 Variable overhead
      8

 Fixed overhead
      6

A foreign company wants to purchase 1,000 units at a special unit price of $25. The normal price per unit is $40. In addition, a special stamping machine will have to be purchased for $2,000 in order to stamp the foreign company’s name on the product. The incremental income (loss) from accepting the order is

A. $3,000

B. $1,000
C. $(3,000)
D. $(1,000)

24. Chapman Company manufactures widgets. Embree Company has approached Chapman with a proposal to sell the company widgets at a price of $80,000 for 100,000 units. Chapman is currently making these components in its own factory. The following costs are associated with this part of the process when 100,000 units are produced:

Direct materials
   $  31,000

Direct labor
                  29,000

Manufacturing overhead     40,000

Total
                           $100,000

The manufacturing overhead consists of $16,000 of costs that will be eliminated if the components are no longer produced by Chapman. From Chapman’s point of view, how much is the incremental cost or savings if the widgets are bought instead of made?

A. $20,000 incremental savings
B. $4,000 incremental cost


C. $4,000 incremental savings
D. $20,000 incremental cost

25. Saran Company has contacted Truckel with an offer to sell it 5,000 of the wickets for $36 each. If Truckel makes the wickets, variable costs are $22 per unit. Fixed costs are $16 per unit; however, $10 per unit is unavoidable. Should Truckel make or buy the wickets?

A. Buy; savings = $50,000

B. Buy; savings = $20,000

C. Make; savings = $40,000

D. Make; savings = $20,000

Abel Company produces three versions of baseball bats: wood, aluminum, and hard rubber. A condensed segmented income statement for a recent period follows:



                Wood  
Aluminum
Hard Rubber
    Total


Sales
                       500,000
$200,000
$ 65,000
765,000

Variable expenses
   325,000
 140,000
   58,000  
 523,000
Contribution margin
   175,000
   60,000
     7,000
 242,000

Fixed expenses
     75,000
   35,000
   22,000 
 132,000
Net income (loss)
 $100,000
$ 25,000
$(15,000)
$110,000

26.  Assume none of the fixed expenses for the hard rubber line are avoidable. What will be total net income if the line is dropped?

A. $125,000

B. $103,000
C. $105,000
D. $140,000

27. Assume all of the fixed expenses for the hard rubber line are avoidable. What will be total net income if that line is dropped?

A. $125,000

B. $103,000
C. $105,000
D. $140,000

28. If the total net income after dropping the hard rubber line is $105,000, hard rubber’s avoidable fixed expenses were

A. $20,000

 B. $2,000
C. $7,000
D. $5,000

Master and Flexible Budget
Las asignaciones individuales tienen que ser entregadas en el taller que le corresponde no más tarde de las 6:00 p.m., por lo que no se estará aceptando en ninguna asignación fuera de fecha ni hora, ya que las asignaciones estarán siendo discutidas en la clase.
1. Orange Company is planning to sell 200 buckets and produce 190 buckets during March. Each bucket requires 500 grams of plastic and one-half hour of direct labor. Plastic costs $10 per 500 grams and employees of the company are paid $15.00 per hour. Manufacturing overhead is applied at a rate of 110% of direct labor costs. Secret Prizes has 300 kilos of plastic in beginning inventory and wants to have 200 kilos in ending inventory. How much is the total amount of budgeted direct labor for March?

a.
$1,500

b. $3,000

c. $1,425

d. $2,850

2.
 The direct materials budget shows:

Units to be produced
3,000

Total pounds needed for production
12,000

Total materials required
13,200

What are the direct materials per unit?

a. .44 pounds
      b.  4.0 pounds
 c. 4.4 pounds
    d. Can’t  be determined from the data provided.

3. Secret Prizes, Inc. had the following information available:

Expected Costs and Selling Price Based on 5,000 units:

Variable manufacturing costs per unit
$32

Fixed manufacturing costs per unit
$20

Selling price per unit
$70

Expected production level
5,000 units

In the flexible budget at 10,000 units, what is the total manufacturing cost?

a. $250,000

b. $420,000

c.  $520,000
d. $700,000

4. At January 1, 2008, Metric, Inc. has beginning inventory of 2,000 surfboards. Metric estimates it will sell 5,000 units during the first quarter of 2008 with a 12% increase in sales each quarter. Metric’s policy is to maintain an ending inventory equal to 25% of the next quarter’s sales. Each surfboard costs $100 and is sold for $150. How much is budgeted sales revenue for the third quarter of 2008?

a. $225,000
b. $975,000

c. $940,800

d. $6,272

5. If the required direct materials purchases are 18,000 pounds, the direct materials required for production is three times the direct materials purchases, and the beginning direct materials are three and a half times the direct materials purchases, what are the desired ending direct materials in pounds?

a. 45,000

b. 9,000

c. 27,000

d. 18,000

6. Brough Company has the following budgeted sales: July $100,000, August $150,000 and September $125,000. 40% of the sales are for cash and 60% are on credit. For the credit sales, 50% are collected in the month of sale, and 50% the next month. The total expected cash receipts during September are

a. $140,000
b. $132,500

c. $131,250

d. $125,000

 7. The production budget shows expected unit sales of 32,000. Beginning finished goods units are 5,600.  Required production units are 33,600. What are the desired endings finished goods units?

     a. 4,000

b. 5,600

c. 6,400


d. 7,200

8. Marian Company's direct materials budget shows total cost of direct materials purchases for January $125,000, February $150,000 and March $175,000. Cash payments are 60% in the month of purchase and 40% in the following month. The budgeted cash payments for March are

a. $165,000

b. $160,000

c. $150,000
             d. $130,000

9. For the current year, Andres Company's static budget sales were $225,000.  Actual sales for the current year were $220,000.  Actual sales last year were $219,000.  Expected sales last year were $225,000.  What is the static budget variance for sales in the current year?

a. $5,000 Favorable

b. $5,000 Unfavorable 

c. $6,000 Favorable

d.$6,000 Unfavorable

10. Gaston Production is planning to sell 600 boxes of ceramic tile, with production estimated at 580 boxes during May. Each box of tile requires 44 pounds of clay mix and a quarter hour of direct labor. Clay mix costs $0.50 per pound and employees of the company are paid $15.00 per hour. Manufacturing overhead is applied at a rate of 110% of direct labor costs. Sudler has 2,600 pounds of clay mix in beginning inventory and wants to have 3,000 pounds in ending inventory.

What is the total amount to be budgeted for direct labor for the month?

a.$2,175

b. $8,700

c. $2,250

d. $34,800

11. Johnson Company expects to purchase $90,000 of materials in July and $105,000 of materials in August. Three-quarters of all purchases are paid for in the month of purchase, and the other one-fourth is paid for in the month following the month of purchase. How much will August's cash disbursements for materials purchases be?

a. $67,500
b. $78,750

c. $101,250

d. $105,000

12. Payla’s Company's high and low level of activity last year was 60,000 units of product produced in May and 20,000 units produced in November. Machine maintenance costs were $78,000 in May and $30,000 in November. Using the high-low method, determine an estimate of total maintenance cost for a month in which production is expected to be 45,000 units.

a. $67,500

b. $72,000

c. $58,500

d. $60,000

13. White Company had the following information available:

Expected Costs and Selling Price Based on 5,000 Units:

Variable manufacturing costs per unit
$32

Fixed manufacturing costs per unit
$20

Selling price per unit
$70

Expected production level
5,000 units

In the flexible budget at 15,000 units, what is the total manufacturing cost?

a. $480,000

b. $580,000

c. $680,000

d. $780,000

14. Suderman Production is planning to sell 600 boxes of ceramic tile, with production estimated at 580 boxes during May. Each box of tile requires 44 pounds of clay mix and a quarter hour of direct labor. Clay mix costs $0.50 per pound and employees of the company are paid $15.00 per hour. Manufacturing overhead is applied at a rate of 110% of direct labor costs. Suderman has 2,600 pounds of clay mix in beginning inventory and wants to have 3,000 pounds in ending inventory.

What is the total amount to be budgeted in pounds for direct materials to be purchased for the month?

a. 25,520

b. 25,120

c. 25,920

d. 26,800

15. A company's past experience indicates that 60% of its credit sales are collected in the month of sale, 30% in the next month, and 5% in the second month after the sale; the remainder is never collected. Budgeted credit sales were:

January
$180,000

February
108,000

March

270,000

The cash inflow in the month of March is expected to be

a. $203,400
b. $153,900

c. $162,000

d. $194,400

16. The following data are for Cascabell Corporation:





Actual

Static Budget

 Flexible Budget for 

Actual Sales Activity

Units


18,000

16,000


18,000

Sales


$360,000
$320,000

$360,000

Variable costs

234,000
192,000

216,000

Contribution margin
$126,000
$128,000

144,000

Fixed costs

76,000

80,000


   80,000

Operating income
$50,000
$48,000

 $64,000
      The flexible budget variance for operating income is:

a. $2,000 Favorable
b. $2,000 Unfavorable
c. $14,000 Favorable
d. $14,000 Unfavorable

17. The production budget shows expected unit sales are 50,000. The required production units are 52,000. What are the beginning and desired ending finished goods units, respectively?

Beginning Units         Ending Units

Beginning Units
       Ending Units

  a. 5,000
                3,000


b. 3,000

5,000

  c. 2,000
                5,000


d. 5,000

2,000

18. Jetsan. Com plans to sell 2,000 purple lawn chairs during May, 1,900 in June, and 2,000 during July. The company keeps 15% of the next month’s sales as ending inventory. How many units should Jetsan.Com produce during June?

a. 1,915

b. 2,200
c. 1,885
d. Not enough information to determine. 

19. Norman Company currently produces cardboard boxes in an automated process.  Expected production per month is 40,000 units.  The required direct materials cost $0.30 per unit.  Manufacturing fixed overhead costs are $24,000 per month.  The cost driver for manufacturing fixed overhead costs is units of production.  In a flexible budget at 20,000 units, the total fixed cost is ________ per month and the total variable cost is ________ per month.

a. $24,000; $6,000

b. $24,000; $12,000
c. $12,000; $6,000
d. $12,000; $12,000

20.  Matienzo Company had a static budgeted operating income of $8.6 million.  Actual operating income was $6.4 million.  What is the static-budget variance of operating income?

a. $2.2 million Favorable
b.  $2.2 million Unfavorable


c. $6.4 million Favorable
d. $8.6 million Unfavorable

21. The following data are for Mike Corporation:

Flexible Budget for


                                Actual
                  Static Budget
          Actual Sales Activity

Units
                                18,000
                              16,000                      
18,000

Sales
                            $360,000                           $320,000                       
$360,000

Variable cost                      234,000
                             192,000
                      216,000

Contribution margin          $126,000
                            $128,000
                     $144,000

Fixed costs                           76,000                                80,000                    
80,000

Operating income               $50,000
                              $48,000                    
$64,000

The static budget variance for operating income is ________.

$2,000 Favorable

b. $2,000 Unfavorable



c.  $16,000 Favorable

d.  $16,000 Unfavorable

22.
 Aries Company's activity for the first three months of 2008 is as follows:


          Machine Hours       
Electrical Cost

January
2,100


$2,400

February
2,600


$2,900

March

2,900


$3,200

Using the high-low method, how much is the cost per machine hour?

a.
$1.00

b. $1.50

c. $1.13


d. $0.89

23. Karper Company's direct materials budget shows total cost of direct materials purchases for April $200,000, May $240,000 and June $280,000. Cash payments are 60% in the month of purchase and 40% in the following month. The budgeted cash payments for June are

a.
$264,000
b. $256,000

c. $240,000

d. $208,000

24. Dardan Production is planning to sell 600 boxes of ceramic tile, with production estimated at 580 boxes during May. Each box of tile requires 44 pounds of clay mix and a quarter hour of direct labor. Clay mix costs $0.50 per pound and employees of the company are paid $15.00 per hour. Manufacturing overhead is applied at a rate of 110% of direct labor costs. Dardan has 2,600 pounds of clay mix in beginning inventory and wants to have 3,000 pounds in ending inventory.

 What is the total amount to be budgeted for manufacturing overhead for the month?

a. $2,392.50
b. $2,475

c. $9,570

d. $9,900

25.  Raxmire Company makes and sells umbrellas. The company is in the process of preparing its Selling and Administrative Expense Budget for the last half of the year. The following budget data are available:




Variable Cost Per Unit Sold


Monthly Fixed Cost

Sales commissions

$0.60




$ 3,000
Shipping


1.20

Advertising


0.30

Executive salaries






 20,000

Depreciation on office equipment




   4,000

Other



0.35




14,000

Expenses are paid in the month incurred. If the company has budgeted to sell 4,000 umbrellas in October, how much is the total budgeted variable selling and administrative expenses for October?

a. $8,400

b. $9,200

c. $50,800

d. $9,800

26.  At the high level of activity in November, 7,000 machine hours were run and power costs were $12,000. In April, a month of low activity, 2,000 machine hours were run and power costs amounted to $6,000. Using the high-low method, the estimated fixed cost element of power costs is

a. $12,000
          
b. $6,000
         
 c. $3,600
         
d. $8,400

 27. The direct materials budget shows:

Desired ending direct materials
36,000 pounds

Total materials required
54,000 pounds

Direct materials purchases
47,400 pounds

The total direct materials needed for production is

a. 18,000 pounds
 
b. 6,600 pounds
c. 11,400 pounds
d. 101,400 pounds

28. The production budget shows that expected unit sales are 40,000. The total required units are 45,000. What are the required production units?

a. 5,000
b. 7,500
c. 10,000
 d. Cannot be determined from the data provided.

29. A company budgeted unit sales of 102,000 units for January, 2008 and 120,000 units for February, 2008. The company has a policy of having an inventory of units on hand at the end of each month equal to 30% of next month's budgeted unit sales. If there were 30,600 units of inventory on hand on December 31, 2007, how many units should be produced in January, 2008 in order for the company to meet its goals?

a. 107,400 units
b. 102,000 units

c. 96,600 units

d. 138,000 units

30. The following information is taken from the production budget for the first quarter:

Beginning inventory in units
900

Sales budgeted for the quarter
342,000

Capacity in units of production facility
354,000

How many finished goods units should be produced during the quarter if the company desires 2,400 units available to start the next quarter?

a. 343,500

b. 340,500

c. 355,500

d. 344,400

31. Normando Company currently produces cardboard boxes in an automated process.  Expected production per month is 40,000 units.  The required direct materials cost $0.30 per unit.  Manufacturing fixed overhead costs are $24,000 per month.  The cost driver for manufacturing fixed overhead costs is units of production.  In a static budget at 40,000 units, the total fixed cost is ________ per month and the total variable cost is ________ per month.

a. $24,000; $6,000
b. $24,000; $12,000
c. $12,000; $6,000
d. $12,000; $12,000

Variance Analysis
1.ToolTime has a standard of 1.5 pounds of materials per unit, at $2 per pound. In producing 2,000 units, ToolTime used 3,100 pounds of materials at a total cost of $6,045. ToolTime's total variance is

a.
$150 F

b. $200 U

c. $155 U

d. $45 U

2.
ToolTime has a standard of 1.5 pounds of materials per unit, at $2 per pound. In producing 2,000 units, ToolTime used 3,100 pounds of materials at a total cost of $6,045. ToolTime's materials price variance is

a.
$155 F

b. $45 U

c. $200 F

d. $350 F

3.
 ToolTime has a standard of 1.5 pounds of materials per unit, at $2 per pound. In producing 2,000 units, ToolTime used 3,100 pounds of materials at a total cost of $6,045. ToolTime's materials quantity variance is

a.
$45 F

b. $155 U

c. $350 U

d. $200 U

4.
ToolTime has a standard of 2 hours of labor per unit, at $18 per hour. In producing 2,000 units, ToolTime used 3,850 hours of labor at a total cost of $70,445. ToolTime's total labor variance is

a.
 $1,555 F
b. $1,200 U

c. $1,155 U

d. $2,895 F

5.
ToolTime has a standard of 2 hours of labor per unit, at $18 per hour. In producing 2,000 units, ToolTime used 3,850 hours of labor at a total cost of $70,455. ToolTime's labor price variance is

a.
$2,895 F

b. $1,200 U

c. $1,555 F

d. $1,155 U

6.
ToolTime has a standard of 2 hours of labor per unit, at $18 per hour. In producing 2,000 units, ToolTime used 3,850 hours of labor at a total cost of $70,455. ToolTime's labor quantity variance is

a.
$1,155 U
b. $1,555 F

c. $2,895 F

d. $2,700 F

7.
The predetermined overhead rate for Weed-B-Gone is $10, comprised of a variable overhead rate of $6 and a fixed rate of $4. The amount of budgeted overhead costs at normal capacity of $300,000 was divided by normal capacity of 30,000 direct labor hours, to arrive at the predetermined overhead rate of $10. Actual overhead for June was $19,000 variable and $12,100 fixed, and standard hours allowed for the product produced in June was 3,000 hours. The total overhead variance is

a.
$1,100 U
b. $1,100 F

c. $6,100 F

d. $6,100 U

8.
The predetermined overhead rate for Weed-B-Gone is $10, comprised of a variable overhead rate of $6 and a fixed rate of $4. The amount of budgeted overhead costs at normal capacity of $300,000 was divided by normal capacity of 30,000 direct labor hours, to arrive at the predetermined overhead rate of $10. Actual overhead for June was $17,800 variable and $10,800 fixed, and 1,500 units were produced. The direct labor standard is 2 hours per unit produced. The total overhead variance is

a.
$3,600 F

b. $1,400 U

c. $1,400 F

d. $3,600 U

9.
Sonic Corporation’s variance report for the purchasing department reports 500 units of material A purchased and 1,200 units of material B purchased. It also reports standard prices of $2 for Material A and $3 for Material B. Actual prices reported are $2.10 for Material A and $2.80 for Material B. Sonic should report a total price variance of

a.
$190 U

b. $20 F

c. $20 U

d. $190 F

10.
The following information was taken from the annual manufacturing overhead cost budget of Coen Company.


Variable manufacturing overhead costs
$69,300


Fixed manufacturing overhead costs
$41,580


Normal production level in labor hours
23,100


Normal production level in units
5,775


Standard labor hours per unit
4

During the year, 5,600 units were produced, 18,340 hours were worked, and the actual manufacturing overhead was $113,400. Actual fixed manufacturing overhead costs equaled budgeted fixed manufacturing overhead costs. Overhead is applied on the basis of direct labor hours. Coen's total overhead variance is

a. $1,260 U.          b.
$4,620 U.            c. $16,800 U.  

d. $5,880 U.         
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